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Typ buriky:
VyuZiti: SKLAD , SATNA
Plocha: 16,06 m?
Osvétleni: 160 Lx
Prostfedl: obydejné
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Typ buriky: A
VyuZiti: SATNA , SKLAD
Plocha: 15,33 m?
Osvétleni: 160 Lx
Prostfedl: obydejné
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Osvétleni:

Typ buriky: B1

KANCELAR
16,06 m?

300 Lx

2x36

PL

Y =

ELEKTRICKY NAPOJENO z buriky A
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Typ buriky:

VyuZiti:
Plocha:
Osvétleni:
Prostied|(:

Typ buriky:

Vyuziti:
Plocha:
Osvétleni:

B2

KANCELAR
16,06 m?
300 Lx

A1

SATNA
15,33 m?
160 Lx
obydejné
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Typ buriky: B3

Vyuziti:
Plocha:
Osvétleni:

16,06 m?
200 Lx
obydejné

Typ buriky: B

Vyuziti:
Plocha:

Osvétleni:
Prostfed!:

KANCELAR
15,33 m?
300 Lx
obyZejné
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